SampleQuestions

Omar wants to buy a television that will cost $900. He
needs 25 percent as a down payment. After he makes
his down payment, he will pay for the rest of the
television in five monthly installments. How much will
Omar owe after he pays the first two installments?

O $540
O 675
O s270
O s$405

[ use logic and analysis to get to the bottom of things.
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| walk the walk when it comes to my values. O O O O O
On occasion, | have stretched the truth to get myself out of O O o O O
ajam.
| take change and uncertainty in stride. O O O O O
| tend to struggle connecting the dots within complex O O o O O
problems.
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